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Instructions to the Examinee :

1.

Do not open the booklet unless you are

asked to do so.

The booklet contains 60 questions.
Examinee is required to answer any 50
questions in the OMR Answer-Sheet
provided and not in the question booklet. If
more than 50 questions are attempted by
student, then the first attempted 50
questions will be considered for evaluation.

All questions carry equal marks.

Examine the Booklet and the OMR Answer-
Sheet very carefully before you proceed.
Faulty question booklet due to missing or
duplicate pages/questions or having any
other  discrepancy should be got

immediately replaced.

(Remaining instructions on the last page)
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One of the chief components determining

cooking quality of rice is :

(A) Aroma

(B) Kernel dimension

(C) Amylose content

(D) None of the above

The most probable wild progenitor of

Saccharum officinarum is :

(A) S. robustum

(B) S.sinense

(C) S. barberi

(D) S. spontaneum

The uppermost leaf before the panicle in

wheat crop is known as :

(A) Leaf sheath

(B) Leaf blade

(C) Flag leaf

(D) Auricle

Set-B
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S

What is the ploidy level of bread wheat ?
(A)
(B)
(©)
(D)

Monoploid
Diploid
Tetraploid

Hexaploid

The botanical name of durum wheat is :
(A) T.dicoccum

(B) T.turgidum

(C) T.compactum

(D) T.durum

The male inflorescence located on the top

of maize plant is referred to as :

(A)
(B)
(©)
(D)

Ear
Silk
Husk

Tassel

Brassica juncea is an amphidiploid
between :

(A) B.oleracea and B. rapa

(B) B.oleracea and B. nigra

(©)

B. rapa and B. napus

(D) B.rapaandB. nigra
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8.  9IoNT BT JHdD AT o7 & ? 8.  What is the the botanical name of pearl

millet ?
(A) UFRICH @M (2n = 2x = 14) (A) Pennisetum glaucum
(2n =2x =14)
(B) UFRIcH TRURTH (2n = 4x = 28) (B) Pennisetum purpureum
(2n = 4x = 28)
(C) UfRIeH aRued (2n = 2x = 18) (C) Pennisetum orientale
(2n =2x=18)
(D) UfRIEH IHRH (2n = 2x = 10) (D) Pennisetum ramosum
(2n = 2x = 10)
9. Ug-UEfeE iy WEa Ree) 9. Which variety of mustard was developed
FT ST FE G E RS e through utilizing the biotechnological
tools (somaclonal variation) ?
famRyd o1 T3 ot ?
(A) T2 (A) Varuna
(B) ERIRS| (B) Kranti
(C) AT Sgfhar (C) Pusa Jaikisan
(D) Suga H A Bl 7Tl (D) None of the above

10. #9% & T & YUY H T oM aem 10 The protein found in the endosperm of

YIS deddl 2 : maize kernel is called as :
(A) CIRE (A) Opaque

(B) S (B) Zein

©) B (C) Protein

(D) ST ¥ ¥ PIg T (D) None of the above

AG-402 (5) Set-B



11. HH-91 I T ¢ ?

(A) T B AT WO 10-12 T Bl
Bl & |

(B) T @I 3fd  SUT 60-120
/BRI /I B 419 Bl 2

(C) NI DI irad Rpal 8 A 14% @
4 & el ¢ |

(D) ST W

12. 9OR @I R 97 dgq ‘feue 23T & IR
¥ feforRad # ¥ ®IF AT Boe W & ?

(A) 39 TSl TR 1955 ¥ fewem,
SITfORT 3, T, T ¥ @IGl 737 o |
(B) TE WRA H 1962 @ ARM Gl

TAT| 1966-72 & QR R 489 ellge
fere 23U @1 SUAN F*d §Y UM
PR goTIfa & fames fdar |
(C) =M (A) 3 (B)
(D) SUYa H A Bl 7l

AG—402 (6)

11.

12.

Which one is correct statement ?

(A) The growing season of sugarcane

varies from 10-12 months.

(B) The average can yield ranges from

60-120 tonnes/halyear.

(C) Average sugar recovery may range

between 8-14%.

(D) All of the above

Which of the following is correct
statement about male sterile line ‘Tift
23A’ of Bajra ?

(A) It was first discovered at Tifton,

Georgia U.S.A. in 1955.

(B) It was introduced in India during
1962. Using male sterile line Tift
23A, five hybrids were released in

India during 1966-72.

(C) Both (A) and (B)

(D) None of the above

Set-B



13. G I b b b WY H hg S 13. Who is known as the father of hybrid

ST & ? rice ?

(A) SIS o. off (A) Donald J. Lee
(B) ©fl. 8. gx (B) G.S. Khush

(C) =TI Zafre (C) Longping Yuan
(D) TUH. UH. WM (D) M. S. Swaminathan

14. 9 # WéH & fou @8R <@ @9 14, Which one is the promising donor for

$ 9 protein in wheat ?

(A) Tccld 66 (A) Atlas 66

(B) U & (B) Nap Hal

(C) THI (A) 3R (B) (C) Both (A) and (B)
(D) SUYa H H IS Tl (D) None of the above

15. fo=foRed & & fod g 4 4 ysrer 15. Which of the following crops has C4

photosynthetic pathway ?

Gy d AN BT § 2

(A) HIDT (A) Maize
(B) ©IRI (B) Sorghum
(C) =T (C) Sugarcane
(D) Sugad FI (D) Al of the above

AG-402 (7) Set-B



16. T4 @ UY @ gde ¥ wifdd ol &  16. What are the different type of acids

=~ yoR |1 & ? secreted by the surface of the chickpea
plant ?
(A) Hfed RIS (A) Malic acid
(B) difeifere TRTS (B) Oxalic acid
(C) WRf¢H RS (C) Citric acid
(D) SWF &l (D) All of the above
17. T8 U& : 17. Sugarcaneisa:
(A) IREAT Swdicsd o™ (A) Perennial tropical grass
(B) T H THI I & forv ST SR (B) Grown for the sugar stored in its
STdT % stem
(C) ¥ BT & "reyg ¥ YAIRd B (C) Propagated through stem cuttings
g
(D) SUgad JHI (D) All of the above
18. ST@I@H T @ yonfd ApH 18. An octaploid cultivated sugarcane species
SRR & SRy 9T oy 2 Saccharum officinarum is supposed to be
originated in :
(A) IHH (A) China
(B) TR WRA H (B) North India
() =g A+ (C) New Guinea
(D) 3ot | (D) Argentina

19. o9 UPR & T B WG IMH 4l 19. Which type of chickpea is also called

gl T 8 ? Garbanzos gram ?
(A) I T (A) Bengal gram
(B) rgehIel (B) Microsperma
(C) T <”Y (C) Desi type
(D) PIgell YDR (D) Kabuli type

AG-402 (8) Set-B



20.

21.

22.

23.

Teel FfF-deE dAFE T @ fhe
P 7 ?

(A) 3R 05106

(B) el A

() fiaor

(D) faumar

AENIG: T & qWsHA 91 < 3 FEl
ST B

(A) WP

® W

(C) T

(D) TS

T & o Dl Fae R W Fdrer
P 9IS IR AT Pl BBl Ol © -

(A) A

(B) T
(C) T

(D) SwF w0
LEAR Tl &1 $gl 9Tl & :
T A a1 ‘Rl SRy

‘TgeT o T ‘S SIRY

(A)
(B)
(©) ‘feua & am “feuet SRy
(D) ST W
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20.

21.

22.

23.

Which is the first machine-harvestable
chickepa variety ?

(A) ICCV 05106
(B)
(©)

(D)

Phule Vikram
Vijay
Vishal

The inflorescence or tassel of sugarcane
is generally known as :

(A)
(B)
(©)
(D)

Spike
Arrow
Racemose

Head

The fibrous residue to the cane stalk left
over crushing and extraction of the juice

is known as :

(A) Molasses

(B)
(C) Bagasse

Jaggery

(D) All of the above

LEAR oils are referred to as :
(A)
(B)
(©)
(D)

‘Single low’ or ‘single zero’
‘Double low’ or ‘double zero’
‘Triple low’ or ‘triple zero’

All of the above

Set-B



24. WX ¥ UgRiRM B 2 24.  Androceium in gardenpeas are :

(A) 9+ 1 JOR (STSAHY) (A) 9+ 1 stamens (diadelphous)
(B) 9+ 1 JOW (@HIVSIHH) (B) 9+ 1 stamens (monoadelphous)
(©) 10 gcmw RIRINSEER)) (C) 10 stamens (monoadelphous)
(D) Suga H H Bl el (D) None of the above

25. Gﬂ?{\ifﬁ Bl Dl STH g 2 25.  Centre of origin of potato crop is :
A) T (A) New Guinea
(B) Uw 3R Frefadr & TSIel uda (B) The Andes mountains of Peru and

Bolivia

(C) ST MR (C) North America
(D) ST 9Rd (D) Northern India

26.  HIDT DI IGTH I 2 26. Origin place of maize is :
(A) 7T FRGT (A) Central America
(B) it (B) Brazil
(C) DTeT (C) Canada
(D) ¥Rd (D) India

27 ‘Dl I Pl A DI 99 fhE b 27. The term  ‘Canola’ is  referred

w7 ¥ welifg fear o £ R e to as rapeseed  cultivars  that

'y contains :

(A) Td ¥ 206 B THRID TRTS (A) Less than 2% erucic acid in oil

(B) 30 umol/g ¥ FH THETEAICH (B) Less than 30 pumollg of
glucosinolates

(C) THI (A) 3R (B) (C) Both (A) and (B)

(D) SUYa H A Bl 7l (D) None of the above

AG—402 (10) Set-B



28. e ha wHUHSD WY W :
(A) T& A¥d a1 g o dferdl iR
$g H Bic YM | k@l 3 W®E
3 el ¢ |
(B) @t W “IRd” IRad # U¥d VWA
ERT WA Sufddim W@
e 2 |
C) W& 3@ H &1 A FH o
@1 gig Bl |
(D) SUgad JHI
20. MIHI H ITd TSR AR &1 Aid R/
g ?
(A) SIS 2
(B) 3MU® 20
(C) I
(D) <RI
30. fHfoReg § & a9 ddeliwice
(T > 100 p g/100 g TSI 9R 3R
PRICHRTS ~ 200 pg/100 g T 9R)
TR 3] BT TF 5 (e 2 7
(A) G e
(B) FHI W
(©) B D3
(D) BB <
AG-402
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28.

29.

30.

The potato tuber is morphologically :

(A) A fleshy stem bearing buds and
eyes in the axil of small scale like

leaves.

(B) The “eyes” on the tuber are actually
rudimentary leaf scars favoured by
lateral branches.

(C) Each eye contains at least three
buds

growth will emerge.

from which next season’s

(D) All of the above

What is the source of high lysine content

in maize ?

(A) Opaque 2
(B) Opaque 20
(C) Proteina
(D) Teosinte

Which of the following is a new

antioxidant rich potato  variety
(anthocyanins > 100 p g/100 g fresh wt.

and carotenoids ~ 200 p @/100 ¢

fresh wt.) ?

(A) Kufri Lalima
(B) Kufri Ganga
(C) Kufri Neelkanth
(D) Kufri Lima

Set-B



31.

32.

33.

34.

AG-402

TN €
(A) O SARTIT Bl SuRerf

(B) WM Yg IHA BT T
(C) 1T ¥ ARd Aeror &1 Msror
(D) 3T S W FHRI Pl Sl

ffoiRad § | SF-91 Gl B AR AR
Y BewR 3R JHaR $ Rl § 7

(A) e
(B) @i
C) ¥ss
(D) fd

URA H ROl B JUATHAR H e
QR febar 7 o ?

(A) 1969

(B) 1869

(C) 1999

(D) 1899

iifeds ®U ¥, JPogdl & dd 3
TR el @I o H HY 88 AP I8
g il :

(A) 3Ega 9UIT Sl BT 3l SFuT

(aiiferes, formifera aiR fomreifT)

(B) ®H HJW el URe (WfAle® 3R
wrRa)

(C) <HI (A) 3R (B)

(D) SWad # | BIS T2

(12)

31.

32.

33.

34.

Heterosis is :

(A) Appearance of
mutation
(B) Selection of best pure line

spontaneous

(C) Mixture of two or more traits

(D) Superiority of hybrids over its
parents

Which of the following flower parts
encloses the pistil and stamens in pea ?

(A) Bracts
(B) Keel

(C) Standard
(D) Wing

Sunflower was introduced from USSR in
India during :

(A) 1969
(B) 1869
(C) 1999
(D) 1899

Nutritionally, sunflower oil is somewhat
superior to other vegetable oils due to :

(A) The  greater  proportion  of
unsaturated fatty acids (oleic,
linoleic and linolenic)

(B) Lower saturated fatty acids
(palmitic and stearic)

(C) Both (A)and (B)

(D) None of the above

Set-B



35.

36.

37.

38.

AG-402

RO I ST I €
(A) TTRI FARBT

(B) Ifead dg

(C) WA

(D) SIET 3rhie

BRI UTd &1 @ige] ®R T & ?

2n=2x=34
2n = 2x =68
2n=4x=34
2n = 4x =68

(A)
(B)
(©)
(D)

TRl T I
(A) D™ a7 T8
(B) et 1 R
(C) Tud

(D) Suga Wl

! U6 beAT Bl Ul § o Fal

q9E g4 (SR ¥ 50-70 M) &1 AW
T BT URTH DI AR (60-90 M IW
q) @ W g1 39 Ui ¥ Ukl 3R
e @ Ml A B & |

(A) sferRIgiueH

(B) WIIgIoH

(C) T (A) 3R (B)

(D) SWa ¥ ¥ IS T

(13)

35.

36.

37.

Origin place of sunflower is :

(A) North America
(B)
(©)

(D)

USSR
Spain

South Africa

What is the ploidy level of Helianthus
annuus ?

(A) 2n=2x=34

(B) 2n=2x=68

(C) 2n=4x=34

(D) 2n=4x=68

The inflorescence of Sunflower is a:
(A)
(B)
(©)
(D)

Capitulum or head
Panicle or ear
Tassel

All of the above

Sunflowers show a phenomenon called as
in which the developing
heads face east (50-70° from north) in the
morning, follow the movement of the sun
and in the evening face west (60-90°
from north). Both leaves and involucral
bracts are involved in this process.

(A)
(B)
(©)
(D)

Heliotropism
Phototropism
Both (A) and (B)

None of the above

Set-B



39. 1920 & TUS B! YA H A b A 39. The highly successful breeding method in
Bl T 30% W 9S[HY 999 § 50% sunflower for improving oil content from

: about 30% in early 1920’s to over 50% in
3 ol IR B oy RO H oA Py ’
the present day varieties is :
qhd gore fafer g

(A) SR 3MST ol (A) Heterosis breeding
(B) WHg 9Id (B) Mass selection
(C) Reid o qeerage fafer (C) Pustovoit Method of Reserve
(D) Sugad Fl (D) All of the above

40. TH T&RIW &3 & fofw g gicer 9 40. Seed rate of True Potato Seed (TPS) for
@EheR) @) det o) & one hectare is :
(A) 100 9™ (A) 100g
(B) 250 ™ (B) 2509
(C) 500 I (C) 5009
(D) 1000 T (D) 1000 g

41. 3T &I e TR AT B 41. The most serious disease of potato is :
(A) Uil &% e IR (PLRV) (A) Potato Leaf Roll Virus (PLRV)
(B) 3fall &Isc (B) Early blight
(C) °c <se (C) Late blight
(D) dFIRTS faee (D) Bacterial wilt

42. R4 ﬁﬁ ARSI ST T 42. Where is the Indian Institute of Wheat

(IIWBR) Hat Rorg 2 7 and Barley Research (IIWBR) located ?

(A) WS, TR I (A) Meerut, Uttar Pradesh
(B) YITR, TSI (B) Bhubaneswar, Odisha
(C) feramr, uoTe (C) Ludhiana, Punjab
(D) PRATA, BRI (D) Karnal, Haryana

AG—402 (14) Set-B



43. TE & T & I a% 9 B I ©
(A) A
(B) I
() Ifes
(D) &<
44, TFb b N H Ricd o1 R B 8 ?
(A) T8 R & w9 # R F_ar B
(B) 3R WRETHU HT I PR &
forg |
(€) ¥g R R Wiz g+ & w9 A
B BT 2 |
(D) SHIE W
45.  GRT 9IORT Bl are-ry faviyer €
(A) T & T H A @ afdd Jm &R
3T T Bl |
(B) 3fde dies & WY uRwdl @ G
4 gfg |
(C) VSR Jdeaeied & aF Ud BIC
fa o1 arer |
(D) ST W
AG-402
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43.

44,

45.

Central zigzag axis of wheat panicle is

called :

(A) Culm
(B) Shoot
(C) Rachis

(D) Crown

What is the function of silk in maize

plant ?

(A) It functions as stigma.

(B) To produce numerous pollen

grains.

(C) It functions as both stigma and

style.

(D) All of the above

The desirable characteristic of forage
Bajrais :
(A) High sugar content in the stem juice

and good digestibility.

(B) Increased leaves number with more

breadth.

(C) A short day plant with photo-

sensitiveness.

(D) All of the above

Set-B



46. HUME B BIIR U] H GHY wY A 46. Fibre quality in cotton is a composite

e & term which includes :
(A) BER TEE DI THGU, IR (A) Uniformity of fiber length, and
PTgaR YRUTEd fibre maturity
(B) WIEsR ¥fdd 3R BIgeR fhead (B) Fibre strength and fibre fitness
(C) THI (A) ¥R (B) (C) Both (A) and (B)
(D) SUYa H H IS el (D) None of the above
47. el H O BT AAT T 47. The oil content in groundnut is :
(A) 43-56% (A)  43-56%
(B) 31-42% (B) 31-42%
(C) 56-64% (C) 56-64%
(D) SWE ¥ | TS el (D) None of the above
48. HIPT H W-IRETY fbdd SR el & ? 48. Cross pollination in maize occurs due to :
(A)  G-31fegar (A) Self-incompatibility
(B) TN (B) Protogyny
(C) U (C) Protandry
(D) Sugad FI (D) All of the above
49. g H§MUT BT GId AT 2 ? 49. What is the source of dwarfism in rice ?
(A) TG Afed-1 (A) Taichung Native-1
(B) SI-RTA-g-SIA (B) Dee-geo-woo-gen
(C) 3M33NR-8-288-3 (C) IR-8-288-3
(D) Sugad FI (D) All of the above

AG—402 (16) Set-B



50. I BT GHIIAd STTell oT-dhdl aar & ? 50. What is probable wild progenitor of

Chickpea ?
(A) R faorm (A) Cicer bijugum
(B) R sforrmH (B) Cicer echinospermum
(C) RIR AMeqHem (C) Cicer reticulum
(D) Sugad FHI (D) All of the above

51. U AT Ol € b URRmS amae (Oryza 51 It is believed that the Asian rice (Oryza

sativa) @) SRT SHTE Tefy 3 sativa) originated from the wild species :
ge el

(A) 3N Bfhur (A) O. rufipogan

(B) 3. sifaferaer (B) O. breviligulata

(C) 3N TR (C) 0. glaberrima

(D) SUYa H H IS Tl (D) None of the above

52. f=ifoiRed ® § o= B9el WioH @& 52 Which of the following crops is

: tically modified for improved
JER U I & foly oMgaliie wU 9 gene

nutritional value of food ?

e © ?

(A) BIN (A) Cotton
(B) e (B) Rice
(C) #aH (C) Maize
(D) gl Il (D) Chickpea

AG—402 (17) Set-B



53.

54,

55.

56.

AG-402

i TriifeE @1 SRy o 2

(A) &g 9Rd

(B) ¥ AWIdI
(C) ¥ did
(D) =feror 3mRar

g H gl W & afel UieH &
37 BT HET oIl @
(A) TR

(B) T
(C) I (A) 3R (B)

(D) SWE & W B &

<ol gAR Sfiad & fory food yoR weeqyol

g7

(A) UICH &1 T9g 9

(B) TgFSeid Tggheit B el 7 Rer
AT

(C) aHI (A) 3R (B)

(D) SWa ¥ ¥ I3 T

IR ERUIRRT &7 Wew FRIfad SivTen

JoIdd ©

(A) 3R Aifcdre

(B) 3RfUNT TeTaRTeT
(C) 3NN SR
(D) 3RfU faem

(18)

53.

54.

55.

56.

The centre of origin of the genus
Gossypium isin :

(A) Central India

(B) Central Africa

(C) Central Brazil

(D) South America

The water insoluble fraction of flour

protein in wheat is referred to as :

(A) Lysine
(B) Gluten
(C) Both (A) and (B)

(D) None of the above

How important are pulses in our

lives ?
(A) Rich source of protein

(B) Fixing atmospheric nitrogen to soil

(C) Both (A) and (B)

(D) None of the above

Most probable wild progenitor of Arachis
hypogaea is :

(A) Arachis monticola

(B) Arachis glabrata

(C) Arachis duranesis

(D) Arachis villosa

Set-B



57. URRTS HUN W € ¢ 57.  Asiatic cotton species are :

(A) . IRARTF &R off. gvaRH (A) G. arboreum and G. herbaceum
(B) fl. f2geH 3R Sl JRATSH (B) G. hirsutum and G. barbadense
(C) THI (A)3IR (B) (C) Both (A) and (B)
(D) SuYa H H Bl el (D) None of the above
58. HEX & Wl @ 58. Pea flowers are :
(A) TFelReRIAY (A) Cleistogamous
(B) Udferl (B) Unisexual
(C) Reremel (C) Heterostyly
(D) Tefermsrit (D) Monoecious
59. T+ UoT AR I RRIIuT g o 59. Sugarcane Breeding Institute  was
established in :
(A) 1952 TG (A) 1952 at Lucknow
(B) 1912 BRI H (B) 1912 at Coimbatore
(C) 1952 BRI H (C) 1952 at Coimbatore
(D) 1912 &I, H (D) 1912 at Lucknow

60. f=folRad & @ fog wofd & 1™ @ 60. Which among the following species of

= @ o S ? sugarcane is cultivated ?

(A) AP A=A (A) Saccharum officinarum
(B) T¥. e (B) S.sinense

(C) TH. eI (C) S. barberi

(D) Sugad FI (D) All of the above

AG—402 (19) Set-B



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRA®T H UA® U & IR GRITad StR—
A,B,CTd D | Wiemdi & 89 9 fawedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § Jufd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 A ® ©

wm: D @ © ©
TSI TR AT U SR =8 BleT AT el T
&, TT Tl H 3T MRaR fodm T, I FAvved
fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3N TH. IR, ST-T98 (OMR
Answer Sheet) WX 2 fo o 8| Sw-uAe A
uiRa WM & araTmar o=d d8l W fear M
STR A T8l 81 |

3. TH. R, STR-U36 (OMR Answer Sheet) W
o N fore 9 7@ I A T W0 argeul
AaIgdd U foram S |

e T & SW Wendf w7 Red Bl
3T OMR Answer Sheet SUTE XM & ¢
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, TH-YRAET T 3 H, H-B
& foru oy w@relt U1 W & fdan S ARy |

URIET-eT ¥ ANT-gab, Defdeicy, UoR a2l Hegerk

B o ST AT SHBT SYINT BT Iioid 2 |

7 & Rl U9 Ul wUrRer § f=Tar 89 @l
T H U BT SN HUFROT & AT BT |

HEAYU

—

| EAYRADT Fiel W YA G 9% o o
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E
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